
1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
This document is valid for the following devices:

 
Device-No. Designation Series

1000022 Cremesso Compact automatic rusty red all

Page 1 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Housing

 

Page 2 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

1 6000370 HOUSING LEFT rusty-red

139 6000520 STEEL CLAMP 9.5mm

139 6000187 STEEL CLAMP 10mm

2 6000376 HOUSING RIGHT rusty-red

61 6000108 O-RING ID3.5x2.0MM

80 6000230 FIXED LOCK

C 6000326 DISPENSER SUB-ASSY(RAL8022/spray PU oil)

D 6000222 WATER TANK SUB-ASSY

J 6000295 Silicon Fiber Tube for Infusion Group

K 6000296 Silicon Fiber Tube for S2 Sub-Assy

W01 6000335 GS POWER CORD SUB-ASSY

Page 3 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Heater

 

Page 4 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

E05 6000030 THERMOFUSE type G4-A00  152C

H2 6000004 HEATING CHAMBER SET SUB ASSY

NTC 6000037 NTC:IN-A100K-3P 100K ohm, lead wire:350m

Page 5 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Brew-Unit

 

Page 6 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

126 6000229 NOZZLE (BLACK)

34 6000327 METAL HANDLE with titanium chrome

42 6000337 E-RING 6x12x0.8mm type:2012-1

44 6000336 TAPPING SCREW D3.5x10mm B/T

N 6000301 INFUSION GROUP CYLINDER SUB-ASSY

SW 6000033 Micro Switch Cord SUB-ASSY

Page 7 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Injector-Unit

 

Page 8 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

133 6000103 SCREW D3.0x10mm

44 6000336 TAPPING SCREW D3.5x10mm B/T

47 6000199 CAPSULE HOLDER LEFT COMPLETE

48 6000102 Spring F0.8xID9.4xL14.8

49 6000133 CAPSULE HOLDER LEFT BLACK

50 6000162 Capsule Lock black

57 6000134 CAPSULE HOLDER RIGHT BLACK

58 6000200 CAPSULE HOLDER RIGHT COMPLETE

ML 6000293 CAPSULE HOLDER LEFT COMPLETE

MR 6000294 CAPSULE HOLDER RIGHT COMPLETE

Page 9 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Injector

 

Page 10 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

146 6000492 HITEC O-Ring 16x2mm for Cremesso-System.

147 6000489 Lip Seal EPDM 70.10-07 System-Part

53 6000094 SPRING PISTON ID8MM

54 6000164 Piston Valve red

DA1 6000306 Cremesso Piston Sub-Assy

Page 11 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pump

 

Page 12 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

156 6000274 SPRING Ø1.2xOD25/15.5xH20

76 6000275 NEW PUMP BRACKET BLACK

77 6000173 Rubber coupling

78 6000171 RUBBER PUMP-SUPPORT

79 6000147 VIBRATION PUMP 230V 50HZ ULKA EP4GW
94V0

E10 6000031 Thermostat Terminal wire sets  Dwg# 775

S2 6000217 VALVE S2 V2

Page 13 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Main Board

 

Page 14 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

101 6000493 MAIN BROAD SMD-776F-MG-22000 REV-C

125 6000175 RUBBER FOOT B D6.5x10.5mm

32 6000338 Screw PT 3.5x12mm INOX BN13579 KA35x12

93 6000169 IN-OUT RUBBER RING

95 6000234 IN-OUT VALVE

96 6000174 RUBBER FOOT D6.0xD4x18mm

FM 6000115 FLOWMETER 974-9501

SW1 6000039 Rocker switch SR-08A 16(4)A/250V no indi

Page 15 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Nozzle

 

Page 16 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

106 6000132 Nozzle black V2

107 6000086 Nozzle Cover titanium chrome

31 6000172 Cushion

Page 17 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Clean Button

 

Page 18 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

119 6000101 Spring F0.4xL14

24 6000137 Button Left brown black / with silver

26 6000135 Button Bracket Left with white

28 6000023 CLEAN BOARD SUB-ASSY

Page 19 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Coffee Button

 

Page 20 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

119 6000101 Spring F0.4xL14

25 6000138 Button Right brown black / with silver

27 6000136 Button Bracket Right with white

29 6000024 COFFEE BOARD SUB-ASSY

Page 21 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Capsule Holder

 

Page 22 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

65 6000354 CAPSULE TRAY RAL8022 SPRAY PU OIL

66 6000352 DISPENSER GRATE 1.0MM THK. STAINLESS

69A 6000360 CAPSULE DISPENSER SMALL ASS. RAL8022-
SIL

70 6000353 CAPSULE DISPENSER BIG ABS RAL8022

Page 23 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Water Tank

 

Page 24 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

71 6000357 WATER TANK-COVER TRANSPARENT-GREY

72A 6000358 WATER TANK SUB-ASSY TRANSPARENT-
GREY

73 411445 WATER TANK VALVE-SEAL

74 411446 SPRING OD 11.8

75 411447 WATER TANK VALVE-BODY

Page 25 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Infusion group cylinder with filter plate

 

Page 26 / 27



1000-022 Cremesso Compact automatic rusty red

Version 29.06.2011

 
Pos Item-No. Designation Spec. Comment

154 6000374 Cup head screw D3x8

Page 27 / 27


